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OZMAMEOSXNHAEH 29
343,000,000& *17H £ 343,000
ZOHAEYA LN RALEH 2F 62,607 62,948 A 341
307 21201 A 62,607 62,948 A 341
10 AL SXNAIEEE2EHEX 62,607 62,948 A 341
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fN: ZZF04

E: Fojel 2R SF L HANS 25

Chel: O X AAMIITHEAIE KA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHJANEXNAEEH 2928 62,607,000 14 & 62,607
Zoel F2AEBSAE 2 183,100 629,642 AN 446,542
< 34,860
Al 148,240
307 21201 A 183,100 629,642 AN 446,542
< 34,860
Al 148,240
10 ALSISEXAIEEE2EHEX 174,300 605, 062 A 430,762
OFEEZMAFAESHE 2
174,300,000 » 100 2 174,300
< 34,860
Al 139,440
11T MISAASEX 8,800 24,580 A 15,780
OFEEZM=2tEs Z20H 29
8,800,000& 14 & 8,800
ZOHQUOIEAIE SAX MHAHI 159,150 148,507 10,643
< 31,830
Al 127,320
307 glz2+ol & 159,150 148,507 10,643
< 31,830
Al 127,320

10 A SIAEHE2SEHIEX 159,150 148,507 10,643
OZOMHAXAAZ HEAIL (SX 2, =2H) SA

A XHLIHEH 133,000%332! x 128 +72,000& 52,740

= 10,548
Al 42,192
OFONX HAIBI HEAIS (25, MBS, B
o) ZAX MM b
142,000 %1391 x128+18, 000 22,170
= 4,434
Al 17,736

OFMAXMNIHESANL(HURESAHSHE, 2
dIYE) SAX MRS 28,080
156,000& »15Q1 x12&

un

= 5,616
Al 22,464

OZOMLIIEXNHAHE SAXR MRIMAHI
110,000& »32! 122 3,960
< 792
Al 3,168

OFMANFALE(FRI0IS, 8L B SH) SAX

HLIMAH 158,400& »25Q1 12& 47,520
= 9,504
Al 38,016

OZMAXESHXNHAHE SAXR HRIHAH|
97,5003 421« 128 4,680
= 936
Al 3,744
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fN: ZZF04

E: Fojel 2R SF L HANS 25

Rl ZOHQAXIGAIS THEAIAE X (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OIS MEHEH XA 208,357 173,826 34,531

= 63,413
= 28,536
Al 116,408
307 ©12+0I & 208,357 173,826 34,531
= 63,413
= 28,536
Al 116,408
10 MM SXANEEHESIGHEX 176,650 142,492 34,158
OZMNARBMBNAME X2
126,826,000 1 2~ 126,826
= 50,730
& 22,829
Al 53,267
OB NSMBAME A X
4,152,000« 128 49,824
11T A EXAIE EX 31,707 31,334 373
OZNUNBMBAME T2 29
31,707,000% 10 2 31,707
- 12,683
= 5,707
Al 13,317
ZOHQIAIE ESALAN A ZAH| 50,400 0 50,400
= 15,120
Al 35,280
307 QI2t01 & 50,400 0 50,400
= 15,120
Al 35,280
10 AR SXNAIEEE2IHIEX 50,400 0 50,400
OXNOHQUX LA THEAIAL (=3, MEOE) S
AFRE & oHZ AH| 50,000& * 1221 x 122 7,200
= 2,160
Al 5,040
OZMNOIKI AN HEAIL (AT, F24) SA
A HHZ A 50,000& «3321 x12& 19,800
= 5,940
Al 13,860
OZMAXNATHEAN L (HUZTESHAE OIS
BYE) AR HHTAY)
46,0003 x1521 x12& +120, 000 8,400
= 2,520
Al 5,880
OFOUQAHFAL(S2I0IS) BAR ZASAH
50,000& x2501 x12& 15,000
o= 4,500
Al 10,500
ZOHI=NR 2Y 1,576,685 1,512,942 63,743
= 16,666
Al 1,560,019
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2N
X ZH -
L= B
el

A= Eo0)o
Zojol =X =7 L

o= =

=2 24

=
T

S

fon

B
Ol

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ool 22X 2 29 1,576,685 1,512,942 63,743
== 16,666
Al 1,560,019
307 2Iz2t0| A 1,576,685 1,512,942 63,743
o= 16,666
Al 1,560,019
05 QIZ2tR EF 2 1,521,130 1,450,642 70,488
OHOM=SAI & 21AHHl K&
1,353,784 ,000& 10 & 1,353,784
OHM=A & 24 XN
68, 126,000 * 104 & 68,126
OHMAUSA & AFEE X 99,220, 000%1JH 2 99,220
11T A EXAIEEX 55,555 62,300 ANB,745
OFMOSAI 2 SHFAIS 55,555,000%1JH 2 55,555
= 16,666
Al 38,889
OHQI M AHATHE AN E2H 1,051,255 856,953 194,302
= 17,480
= 162,084
Al 871,691
ZOHRQIZATHEANE JsEZ 34,960 8,000 26,960
= 17,480
o= 8,740
Al 8,740
402 SI2FXHE0| ™ 34,960 8,000 26,960
= 17,480
o= 8,740
Al 8,740
02 QIZEXIEANISE X (0| XM THLH) 34,960 8,000 26,960
OXHMHAZEATHEA L (HUZES AR )IIsE
2z 34,960,000 * 104 & 34,960
= 17,480
& 8,740
Al 8,740
ZOHQUZATHEANE 2 1,016,295 848,953 167,342
< 153,344
Al 862,951
307 QI2t0| ™ 1,016,295 848,953 167,342
& 153,344
Al 862,951
10 AISIEXAIEEHE2IHIEX 1,016,295 848,953 167,342
OXHMHQAZATHEA L (HULUZESEAH) 2
483,380,000& = 1JH 2~ 483,380
o= 72,507
Al 410,873
OZOHQIEATHE AL (DISEHLEH) 2
526,915,000& = 1JH 2~ 526,915




SH: AR D
E: Fojel 2R SF L HANS 25
SRl NS BALEY CEREY

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

79,037
Al 447,878

)
,000& x7H 123 3,360

1,008
2,352

= M

OZMHAXNSTHEAIL (R SHLE) SSHM
25k 27,5003 x8H x 12 2,640
792

1,848

= M

ZOHQIDIEX R (LG HMQ SHMSIALE) 779,566 795,775 A 16,209
375,075
95,548
308,943

= M W

g FR2H4EXNE 12,895 23,440 10,545
9,026
1,161
2,708

= W

308 XM S0IH 12,895 13,440 N 545
9,026
1,161
2,708

= W

S
=
on
=2
2
ro
oy
0z

X2/ E AL S I 12,895 13,440 A 545
153,510& x7Z 128 +160& 12,895

9,026
1,161
2,708

© o
!
Ho
0=
o
0z
o
Pl
{0

=z N H

r
4
y
o
O
x
(=S
I>

260, 144 274,323 A14,179
182,101
23,413
54,630

= W

308 NHXIEHMSOIE 260, 144 274,323 A14,179
182,101

23,413
54,630

= Hn

Jl2SOtHetE & X 2 E AL I 260, 144 274,323 A 14,179
MHA XT3

1,667,580 x13F «12& +1,520& 260, 144
182,101
23,413
54,630

=z N W

LI FAESAHHA FOHAE 48,676 85,536 N 36,860
< 14,603
Al 34,073

301 LetEH S 48,676 85,536 A 36,860

14,603
34,073

= N

01 ARl 2& A =63 48,676 85,536 A 36,860
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2N

ZZZ 0§t

HE: ZOHY =X X L HANYS 25
CHel: MOIQIIENA (LSOO STMENATE) (SHol: @)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLLHML FAE8SHHIA & FIXZ
405,600 10 x 122 +4,000& 48,676
= 14,603
Al 34,073
Fad LIS RS ESAHE A 262,784 248,876 13,908
= 183,948
< 23,651
Al 55,185
308 AHXIEHHSOIA 262,784 248,876 13,908
= 183,948
< 23,651
Al 55,185
113/ 2SoHUHSZ&EAEALS I 262,784 248,876 13,908
OZEHME s SSHMHA X
591,850 3721 «12& +2,600& 262,784
= 183,948
< 23,651
Al 55,185
OISR EH 28 N& 195,067 163,600 31,467
< 32,720
Al 162,347
307 gl2tol & 159,067 163,600 A 4,533
= 32,720
Al 126,347
10 AL SXNAIEEE2EHEX 150,000 150,000 0
OZOMAINZXNFLH 2 X
150,000,000& *1JH 2 150,000
< 30,000
Al 120,000
11T M SXAISE EX 9,067 13,600 A 4,533
O=THML 2ssSs ML
9,067,000 =104 2 9,067
< 2,720
Al 6,347
402 2I2H X201 M 36,000 0 36,000
01 2I2E 2 A B (KR ) 36,000 0 36,000
OZOMRIIBXNRAYH Js22(H&E2Y)
36,000,000 =14 2 36,000
HOHAUEE XEAY 10,798 11,548 AT750
< 3,239
Al 7,559
ZOHAUEE P 10,798 10,798 0
< 3,239
Al 7,559
307 21201 A 10,798 10,798 0
< 3,239
Al 7,559

_30_




SH: AR D
HE: ZOHY =X S5H L F
SRl Zoje B ALY (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

ES 10,798 10,798 0
el XI&

230,000& 46 +218,000& 10,798
3,239
7,559

©
0
o
m
0
1 H
1

= M

HOoHel LXtel X& 1,526,234 1,379,401 146,833
724,897
217,469
583,868

= W

oYX e X3 (LetE dXel)(

H
FA

849,254 782,024 67,230
424,627
127,388
297,239

= N H

101 1Al 849,254 782,024 67,230
424,627
127,388
297,239

= N H

04 JIZtHZ22 s+ 849,254 782,024 67,230
OFOHALXte| LetsE (ML) A
914,440 3121 x 133 +77,734,680& 849,254

424,627
127,388
297,239

’

= M W

ZHOH QI & X2l K& (Al 2EHMI L Xtel) 413,872 341,446 72,426
206,936
62,081
144,855

= N W

101 1Al 413,872 341,446 72,426
206,936
62,081
144,855

= W

04 JI2tNZ22XHSE 413,872 341,446 72,426
OFOHALXtel LerE (AI2HH) &2
957,220 302! »13& +40,556, 200 & 413,872

206,936
62,081
144,855

= N H

O L X2l XA (SXLXtel) 186,668 165,012 21,656
93,334
28,000
65,334

= N H

101 1A dl 186,668 165,012 21,656
93,334
28,000
65,334

= N W

04 JI2AtN22XHSE 186,668 165,012 21,656

OFOAI=XILX2l K& Q2|
512,960 299! x 12248, 157,920 2 186.668
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fN: ZZF04

ZE: Fojel 2R SF L HANS 25

S HoHel fXtel X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 93,334
= 28,000
Al 65,334
O DXl X (Lot L xtel) (KHA) 76,440 90,919 A 14,479
101 @14 dl 76,440 90,919 A 14,479
04 JIZHHZ2XREE S 76,440 90,919 A 14,479
OO LRl AXM(ELH) Ayl
401%1,914,440& x9& +7,520, 0403 76,440
ANTHALY ZoHel=XSa 269,440 252,600 16,840
SIS AL XA 91,800 84,600 7,200
301 LA F 91,800 84,600 7,200
01 AR 2Z A5 3 91,800 84,600 7,200
O =ZSHMHOsAZXE
30,000 x255 % « 1201 & 91,800
SSHML 2SH32E HRIHLEIXA 88,200 82,800 5,400
301 LA S 88,200 82,800 5,400
01 MEIBEE 263 88,200 82,800 5,400
FoHe EsH3E ML X
30,0003 24501 x12& 88,200
ZOHQ XA LRI 33,480 31,230 2,250
301 LPEAZ 33,480 31,230 2,250
01 MEIEBEZE 06z 33,480 31,230 2,250
OFMAXAEH LRI E
30,000 90021 x12& +30,000& 421 +x9& 33,480
ZOfItE duadlzdl, S4XAS XN 41,000 40,000 1,000
301 LEHZ 41,000 40,000 1,000
01 MEI2EZE 06z 41,000 40,000 1,000
OFMHIIF L AT ZH 500,000 »22Jt 11,000
OFMAINFELRNAS 2,000,000 x 152t = 30,000
ZOHA=XIHE, SHHEMHA XIS 11,000 11,000 0
301 LeBAF 11,000 11,000 0
01 Ml28E 6= 11,000 11,000 0
OFMA=RIINE S, EHEAMHIA X2
5,000& x2,200A 11,000
ZOHQIFX7Y RBXE WEHE 2 el AlAE 3,960 2,970 990
7= =4
201 ¢er24] 3,960 2,970 990
02 =224l 3,960 2,970 990
OZOMRA=I AL BEHE AIAE I 22
=]l 990,000& *4= | 3,960
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fN: ZZF04

HE: ZOHY =X X L HANS 25
©e HOHAAFAIE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O HF=AE K& 1,234,541 1,306,179 AT1,638
= 814,228
< 120,694
Al 299,619
FOUAAF=AIE 2 K 1,143,192 1,139,022 4,170
= 800,234
< 102,887
Al 240,071
307 gl2tol & 1,143,192 1,139,022 4,170
= 800,234
< 102,887
Al 240,071
10 AL SXNAIEEE2EH EX 1,143,192 1,139,022 4,170
OO H=AL(Fel0E) 22
1,143,192,000& 17 2 1,143,192
= 800,234
< 102,887
Al 240,071
SSEMHLY ESsk=E 10,800 9,600 1,200
< 3,240
Al 7,560
307 21201 A 10,800 9,600 1,200
< 3,240
Al 7,560
10 AL SXNAIEEE2EHEX 10,800 9,600 1,200
OHMAANFAIE SSEUMHY ESkE
40,0003 »22&H =122 +240,000& 10,800
< 3,240
Al 7,560
ZOHANFAIE 2 37,557 37,557 0
< 11,267
Al 26,290
307 21201 A 37,557 37,557 0
= 11,267
Al 26,290
10 ALl SXAIEEE2EH EX 37,557 37,557 0
OO AHFAIE SAAR CIAH 2=
149,000& »21E 123 +9,000& 37,557
< 11,267
Al 26,290
ZOHAAN=AIE 298 XA 20,000 20,000 0
307 21201 A 20,000 20,000 0
10 ALSISXAIEEER2IHEX 20,000 20,000 0
OFe SsMaIE(sLd3sH)2Y
20,000,000% 104 2 20,000
gzl z2 Y 3,000 0 3,000
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A2
e =X s
CEMHAANFAIE N

(u]

=
T

S

fon

Ol

=|
T

bl

0

= - — SHE|
SN HH-S(BN) - MBAY - B e 2
< 1,500
Al 1,500
307 glz2tol & 3,000 0 3,000
< 1,500
Al 1,500
10 M SXNANEHI2IHE=X 3,000 0 3,000
OFMLUNFAILE gHAHASZZ2 Y
3,000,000 =14 2 3,000
< 1,500
Al 1,500
ZOHANFAIE SAX FL=E 19,992 0 19,992
= 13,994
S 1,800
Al 4,198
307 glz2+ol & 19,992 0 19,992
= 13,994
< 1,800
Al 4,198
10 M ZXNANEHI2IHES 19,992 0 19,992
OZMWANFAL BAX BL4E
98,0003 x17H 128 19,992
= 13,994
< 1,800
Al 4,198
dY2HIH (B0 ) 77,520 77,520 0
ol 2d | 77,520 77,520 0
22 A | 77,520 77,520 0
201 Let249] 35,184 35,184 0
01 At 22/l 29,784 29,784 0
O L et==EH| 90,0003 x17H 128 18,360
O =&l 8,000 x17F 7L 123 11,424
02 8323l 5,400 5,400 0
OSXN=0 ZHEXNESLS(e-0B2H)
5003 «900H 123 5,400
202 odl 36,936 36,936 0
01 = LH Yl 34,560 34,560 0
oOYge+8 EF NI 180,000& 16 »12& 34,560
02 M0 2,376 2,376 0
O2HA FHNHI 2,376
oJla 138,000& 1H 128 1,656
OJHat 60,0003 x 1 128 720
203 YR =2l 4,200 4,200 0
04 NI FZ=AH 4,200 4,200 0
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Wikd
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Off &t 24
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